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CIE Publication No. 15.2 (1986), Colorimetry, Second edition.
1SO 5-1~4 (1983-1985), Photography — Density measurements.
1SO 13655, Graphic technology — Spectral measurement and colorimetric computation for graphic arts
images.
IEC 61966-2-1 Amd.1 Ed. 1.0, Multimedia systems and equipment - Colour measurement and
management — Part2-1:Colour management — Default RGB colour space — sSRGB

Part2-1:

Amd.1 Ed. 1.0 Annex F

1 Amd.l Ed. 1.0 Annex F

1 Amd.1Ed. 1.0 Annex F



6.1

6.2

6.2.1

6211

6.2.1.2

6.2.1.3

6.2.1.2

6.2.1.3

X0=96.422 Y0=100.000 Z0=82.521



L* =[0,200]

a*:[—85,85]
b* =[-75,125]
a b a b
NL:[(Z**nL—l)/ L]xL*+ )
Na:[(z**na—l)/ a]><a*+ .
N, =[(2**n,-1)/ o |xb*+ X
100.00 0
170.00 2*( a1
200.00 2% 2 2*( , 3

N, = round][ (255./100.)x L * |
N, = round][ (255./170.) xa* +128. ]
N, = round| (255./200.) x b* +96. |

N, = round[ (4095./100.)x L * ]
N, = round| (4095./170.) x a* +2048. |
N, = round] (4095./ 200.) x b* +1536. |




L* =[0,100]
a* =[-128,127]
b* =[-128,127]

N, = round[ (255./100.)x L * ]
N, =round| (255./ 255.)xa* +128. |
N, = round[ (255./ 255.) x b* +128. |

500,500 200,200

6.2.2
6.2.2.1
6.2.2.2 6.2.2.3
6.2.2.2
Xo= 95.047; Yo =100.000; Zg= 108.883
6.2.2.3

Y =[0]]
Cb=[-0.5,0.5]
Cr=[-05,0.5]



Y CbCr NyNcpNcr NyNchNcr

N, =[(2**n, —1) v XY+ v

Ng, =[(2**n, - o |xCb+ o

Ne =[(2%*n, -1 o |¥Cr+ o
NyNcpNer  nynepher Y Cb Cr

Y 1.00 0

Cb 1.00 2** (Ncp — 1)

Cr 1.00 2**(ng, — 1)

N, =round|(255./1.)xY |
N¢, = round| (255./1.)x Ch+128. |
N¢, = round] (255./1.)x Cr +128. |

Y =[0,1.0]
Cb=[-1.0,1.0]
Cr=[-10,1.0]

N, =round[(1023./1.)x Y |
N¢, = round| (1023./ 2.) x Cb+512. ]
N, = round| (1023./2.)x Cr +512.|
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A

45

95.047

96.422

100.000

12

100.000

108.883

4.7

82.521

0.01

45



(nm)

0.000 0.000 0.001
0.001 0.000 0.005
0.003 0.000 0.013
0.012 0.000 0.057
0.060 0.002 0.285
0.234 0.006 1113
0.775 0.023 3.723
1.610 0.066 7.862
2.453 0.162 12.309
2777 0.313 14.647
2.500 0.514 14.346
1717 0.798 11.299
0.861 1.239 7.309
0.283 1.839 4.128
0.040 2.948 2.466
0.088 4.632 1.447
0.593 6.587 0.736
1.590 8.308 0.401
2.799 9.197 0.196
4.207 9.650 0.085
5.657 9.471 0.037
7.132 8.902 0.020
8.540 8.112 0.015
9.255 6.829 0.010
9.835 5.838 0.007
9.469 4.753 0.004
8.009 3.573 0.002
5.926 2.443 0.001
4171 1.629 0.000
2.609 0.984 0.000
1541 0.570 0.000
0.855 0.313 0.000
0.434 0.158 0.000
0.194 0.070 0.000
0.097 0.035 0.000
0.050 0.018 0.000
0.022 0.008 0.000
0.012 0.004 0.000
0.006 0.002 0.000
0.002 0.001 0.000
0.001 0.000 0.000
0.001 0.000 0.000
0.000 0.000 0.000
96.421 99.997 82.524
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(nm)

0.000 0.000 0.001
0.002 0.000 0.010
0.006 0.000 0.026
0.022 0.001 0.104
0.101 0.003 0.477
0.376 0.010 1.788
1.200 0.035 5.765
2.396 0.098 11.698
3.418 0.226 17.150
3.699 0.417 19.506
3.227 0.664 18.520
2.149 0.998 14.137
1.042 1.501 8.850
0.333 2.164 4.856
0.045 3.352 2.802
0.098 5.129 1.602
0.637 7.076 0.791
1.667 8.708 0.420
2.884 9.474 0.202
4.250 9.752 0.086
5.626 9.419 0.037
6.988 8.722 0.019
8.214 7.802 0.014
8.730 6.442 0.010
9.015 5351 0.007
8.492 4.263 0.003
7.050 3.145 0.001
5.124 2.113 0.000
3.516 1.373 0.000
2.167 0.818 0.000
1.252 0.463 0.000
0.678 0.248 0.000
0.341 0.124 0.000
0.153 0.055 0.000
0.076 0.027 0.000
0.040 0.014 0.000
0.018 0.006 0.000
0.009 0.003 0.000
0.005 0.002 0.000
0.002 0.001 0.000
0.001 0.000 0.000
0.000 0.000 0.000
0.000 0.000 0.000
95.049 99.999 108.882
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L*=116(Y /Yn)" -16 Y /'Yn > 0.008856
L*=9033Y/Yn Y /Yn <0.008856

a = 500] (X /Xn)"* = (Y /Yn)"”* |

b* = 200[ (Y / Yn)"* ~(2/zn)** |

0.008856
16/116
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7.7867



Rece 32406 -15372 -04986 X
Gues |=[-09689 18758 00415 | Y
Bece 00557 -02040 10570 | Z

04124 03576 01805 | Rges
02126 10,7152 0072 2 | Gggg
00193 01192 09505 || Bggs

N < X
I

Rece 3240 6255 —1537 2080 —0,498 6286 | X
Gues | =|-09689307 18757561 00415175 | Y
Bece 00557101 -02040211 10569559 | Z

If Regs Cas 1Bewes < —0,003130 8

Ries = —1055% (— Rpgs )2 +0,055
Glace = —1,055x (— G s )2 +0,055
Bloes = —1055% (— Bgs )2 +0,055
If —0,003130 8< Rygs ,Guap Baes < 0,003130 8,
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Ries =1292x Rgeg
Glres =1292x Gy
Bires =1292x By

If Ryues Garan B > 0003130 8,

Rl =1,055x (Rees )™ " — 0,055
Glace =1055x (Gpgs )™ > = 0,055
Bloes =1055x (Bygs )™ ¥ — 0,055

Y 02990 05870 01140 | Ries
Cb|=|-01687 -03313 05000 || Gkes
Cr 05000 -04187 -00813 | Bligs
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